
Jmyers
Sticky Note
The student did not determine the correct slope (as noted with the annotation).  However, based on the miscalculation, the student identified what would have been the correct slope.  Then the student clearly communicates that the product of the slopes would need to be -1 if the lines are perpendicular.  This is a good example of an 'essentially correct' but not perfect response.



Jmyers
Sticky Note
The student has some extraneous work (solving the equation for x), but the student explicitly states that the measure of angle CAT is 58 degrees.

Jmyers
Sticky Note
In part a), the student makes a good decision based on their (inaccurate graph).  The student could still score 'P' on this component if they had graphed part b) and stated (based on their graphs and information provided) if the lines were perpendicular or not.  



Jmyers
Sticky Note
Similar to student 2, this student provides some extraneous work.  However, this student does not explicitly state the angle CAT measures 58 degrees.  In fact, with the 'box' the student is communicating that their solution is x = 5.3.  The student shows in their equation set up that they do understand angle CAT measures 58 degrees, further they did correctly identify the relationship between the expression and the angle AND they correctly solved the equation.  Therefore, the student receives a P+, so there is some consideration for 'bumping' the score up.  However, the student received an 'I' on component 3.




